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�>EG44DEF65==4O 
46F><4F<7<D>64==4O E<EF5<4 
$>EE<=E>>= $545D4F<< 
«�D46>EG4<5» 

https://sudrf.ru/ 
%G455=O5 4>FO < <=D>D<4F<O 

> EG455=>= E<EF5<5 

$>EE<=E>>= $545D4F<< 

%G455=O5 < =>D<4F<6=O5 4>FO $$ 
(%G4�>F) 

https://sudact.ru/ 

%G455=O5 4>FO EG4>6 

$>EE<=E>>= $545D4F<<, 

=>D<4F<6=>-?D46>64O 

<=D>D<4F<O 

�5DE>6=O= %G4 $>EE<=E>>= 
$545D4F<< / �=D>D<4F<O ?> 
EG455=O< 45?4< 

https://www.vsrf.ru/lk/pr
actice/cases 

%G455=O5 4>FO ?> 6E5< 

<=EF4=F<O< �5DE>6=>7> %G44 

$>EE<=E>>= $545D4F<< 

-���&$���/� ������/ �� �$��' 

�4GG=4O M?5>FD>==4O 5<5?<>F5>4 
eLIBRARY.RU 

https://www.elibrary.ru/defaultx.asp? 
>DG?=5=L<= D>EE<=E><= <=D>D<4F<>==>-
4=4?<F<G5E><= ?>DF4? 6 >5?4EF< =4G><, E>45D64M<= 
D5D5D4FO < ?>?=O5 F5>EFO =4GG=OE ?G5?<>4F<= 

�4GG=4O M?5>FD>==4O 5<5?<>F5>4 
«�<55D�5=<=>4» 

https://cyberleninka.ru/ 
�5E??4F=O= >?5D4F<6=O= 4>EFG? > ?>?=O< F5>EF4< 



�4764=<5 D5EGDE4 -?5>FD>==O= 44D5E %>45D64=<5 D5EGDE4 

=4GG=OE ?G5?<>4F<= 6 M?5>FD>==>< 6<45 

13.�5D5G5=L <=D>D<4F<>==OE F5E=>?>7<= 

4) ?<F5=7<>==>5 < E6>5>4=> D4E?D>EFD4=O5<>5 ?D>7D4<<=>5 >55E?5G5=<5: 
3 Microsoft Office Standart 2013 Russian: ?4>5F ?D>7D4<<. �>?NG45F ?D<?>65=<O: MS 

Office Word, MS Office Excel, MS Office PowerPoint, MS Office On-eNote, MS Office 2010 
Publisher; 

3 ?G5?<G=> 4>EFG?=O5 >5?4G=O5 F5E=>?>7<< (Google Docs, /=45>E 4<E> < F.?.). 
5) <=D>D<4F<>==O5 E?D46>G=O5 E<EF5<O: 
3�4F<>=4?L=4O 5<5?<>7D4D<G5E>4O 5474 44==OE =4GG=>7> F<F<D>64=<O eLibrary; 
3�<5?<>F5G=O= <=D>D<4F<>==O= >><??5>E (M?5>FD>==>-5<5?<>F5G=4O E<EF5<4 

«'=<65DE<F5FE>4O 5<5?<>F5>4 online»; 
3 �=D>D<4F<>==>-?D46>64O 5474 44==OE «�4D4=F»; 
3 �=D>D<4F<>==>-?D46>64O 5474 44==OE «�>=EG?LF4F4=F�?NE»; 
3 -?5>FD>==O= >4F4?>7 �4GG=>= 5<5?<>F5>< &�' 3 

http://chamo.lib.tsu.ru/search/query?locale=ru&theme=system; 
3 -?5>FD>==4O 5<5?<>F5>4 (D5?>7<F>D<=) &�' 3 

http://vital.lib.tsu.ru/vital/access/manager/Index; 
3 -?5>FD>==O= >4F4?>7 GG55=>= 5<5?<>F5>< �.�(D)&�' http://server.n-l-i.ru:8081 ;   
3 �5D47>64F5?L=4O ??4FD>D<4 .D4=F 3 https://urait.ru/ ; 
3 -�% ZNANIUM.com 3 https://znanium.com/; 
6) ?D>D5EE<>=4?L=O5 547O 44==OE : 
3 '=<65DE<F5FE>4O <=D>D<4F<>==4O E<EF5<4 $�%%�/ 3 https://uisrussia.msu.ru/ 
3 �4<=4O <56654><EF65==4O <=D>D<4F<>==>-EF4F<EF<G5E>4O E<EF5<4 (���%%) 3 

https://www.fedstat.ru/ 
7) >=?4==-??4FD>D<O: 
3 Zoom Video Communications (https://zoom.us/signin); 
3 M?5>FD>==O= G=<65DE<F5F «Moodle». 

14. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 

�G4<F>D<< 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4. 
�G4<F>D<< 4?O ?D>6545=<O ?D4>F<G5E><E 74=OF<= < 74=OF<=  E5<<=4DE>>7> F<?4, 

<=4<6<4G4?L=OE < 7DG??>6OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 
4FF5EF4F<<. 

�><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, >E=4M5==O5 >><?LNF5D=>= F5E=<>>= < 
4>EFG?>< > E5F< �=F5D=5F, 6 M?5>FD>==GN <=D>D<4F<>==>->5D47>64F5?L=GN ED54G < > 
<=D>D<4F<>==O< E?D46>G=O< E<EF5<4<. 

15. �=D>D<4F<O > D47D45>FG<>4E 

�DG7456 �?44<E?46 �<>F>D>6<G, >4=4<44F ND<4<G5E><E =4G>, 4>F5=F >4D54DO 
7D4644=E>>7> ?D464 �.� (D) &�' 

 


